drei Briiche, Reihenfolge der Operationen mit

Klammern

Name Datum: Ergebnis:

1 1 1 33 1

—_ 4+ — —_ = —_(—= — =) =

G723 2573

3 1 2 2

—(Z+ =)= Z+)+2=

3(4 3) (5 5)

1 3 3 1 3 |

—_ 4+ — —_ = - — = — =
G373 57273

1 2 1 11 3

(373737 16 2"

27 21 1

— +3)+-9= —(=+ =)=

(2 3)+9 3(3 2)
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drei Briiche, Reihenfolge der Operationen mit

l l Klammern

Name Datum: Ergebnis:

1 1 1 1 33 1 3

—_ 4+ — —_ = = —_(—= — =) = —
GrP"37% 37275

13 1 13 2 2 2

3(4 3) 36 (5 5) 5

1 3 3 15 3 1 11

—_ 4+ — —_ = —_— = —_ = (——
Gr*P" 1716 G937 3

1 2 1 1 11 3 1
373737 % 15 2703

27 11 5 21 1 5

(2 3)+9 6 6 3(3 2) 9
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